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QUESTION 1

If a History Log field is deleted from an application, what will happen to the data stored within that History Log field?
A. All data previously stored in that field is deleted

B. All data previously stored in that field is still maintained by the database

C. The user data stored within that field is saved, but all other data is deleted

D. Nothing; it is not possible to delete a History Log field once it has been populated within a single record

Correct Answer: A

QUESTION 2

Which Apply Conditional Layout item takes highest priority of all others at the Field Level within Conflict Resolution?
A. ReadOnly

B. Required

C. Display

D. Use Default Settings

Correct Answer: B

QUESTION 3

What does Archer use to match components, e.g. applications and fields, between two instances during the packaging
process?

A. System IDs

B. GUIDs (Globally Unique Identifiers)
C. Key Fields

D. Tracking IDs

Correct Answer: D

QUESTION 4
Why might creating role-based groups positively impact the end user experience when working with user/ groups lists?

A. It increases the complexity of key tasks
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B. It eliminates the need to select relevant users individually
C. It eliminates the ability to synchronize with your LDAP server
D. It simplifies access control by enforcing the one-role, one-group rule

Correct Answer: D

QUESTION 5

Where do you find the latest RSA Archer Platform architecture recommendations?
A. Platform Planning Guide

B. DDE Reconciliation Guide

C. What\\'s New Guide

D. Platform Administration Guide

Correct Answer: A
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